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Chapter 4A Test Review

Multiple Choice (2 points each)- Identify the choice that best completes the statement or answers the question. Show
ALL work to receive full credit.

1. What must be true in order for AdBC = AEDC by 4. As shown in the diagram below, A ABC ~ /A DEF,
AB=7x,BC=4,DE=17,and EF =x.

the SAS Congruence Postulate? -
=7y
A ﬂ— %‘/ X s 2
; 4 I 1 =X
VEDS
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a. ZB= /D
b. Zd=/LE B 4 C E X F
opa
. AB=DE What is the length of AB?
2. If AABC ~ AZXY, m£A =50, and m£C = 30, a. 28
what is mZX ? 2 ' - b 2
(50 =20 = jcv (_? 14
a. 30 .4
b. 50 ) _ o —
c. 80 5. Find mZ£1 in the figure below. PQ and RS are
4.) 100 parallel.

3. Inthe figure, Z6and 22 are

BARN A e
X . 1hix=lo

-8 I
o/
X = 0]
a, 17°
b. 73°
c. 97°

alternate interior angles
consecutive interior angles
alternate exterior angles
corresponding angles
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6. Which triangle is NOT similar to any of the others?
',V
a.
b. A

C‘
@ D\%—F Avgie
O W&mew

that best complete the statement or answer the guestion.

Multiple Response
Identify one or more choices

7. Inthe figure, 21 and /2 are

gl

t

i
i
el
m
1
@ alternate exterior angles ¢. consecutive interior angles
alternate interior angles d. corresponding angles

8. Solve forx.

(Ae+137p

Dy %] + 2x128= (50
SX ¢ |eS= (50
Sk & 5

(=3

[2x+ 28]
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Short Answer - Show ALL work 10 receive full credit.

9. Inthe diagram below, Eﬁﬂ :"EJ

M

R Q 20 L p

a. Prove that A MPR ~ ANPQ. S J &

B

r [ ! 6‘“1\{‘8&"'—’

[- Ml VR \
9 ; EOELD 2. Peflexive M

3 LRELIGN |3 cowverp &8 [oshuded
Y, APp~INNIQ |, At~

b. Use the given measurements to determine each of the following.

L. RP ii. NP

12
1z 2% A

(fX=|2xt(20
(20 = 3@o
( JTK) 3 [.QX:\?.O

1MUY (LY =B (e0
- 10
iLxe (W :
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| RP=30)
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10.

In the diagram below, MN || AF, mZABC = 43°, and m£FBD = 58°.

Find the measure of each indicated angle. Provide reasoning to support your answers.

a. mZEBF = L"?Jr

bmzepa-_ |%07] "

emepsc=_ 19 °

pazens LS ] Lw(@'ﬂ?‘v\dw\j oy £
amoms=_ \5] SV @l &S
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1. !;‘_la}'a needed to determine the longest distance across Grand Lake. She made the measurements as shown in the
iagram.

Grand Lake

12

A [_53

R 15m S 2 il lawr sidet |
= Rngle O

p—

a. Provide an argument to justify that A NPM ~ LA RPS. A\(‘ € T~ ]/J \f SH_S -

12. You want to estimate the height of a tower that is supported by a wire as shown in the diagram. Suppose that
Robert, who is exactly 6 ft tall, stands so that his head just touches the wire. When he does this, he is 10 fi from
the point where the wire touches the ground and 25 ft from the center of the base of the tower. Use this
information to determine the approximate height of the tower.

fe— 10'—t- 25' -
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13. gil:i:lzgcnr;n proof of the following. S ’ rz |
Prove: a| b 1 :_Z___a_?) __—T’Z,g I_"“GW
A zamb 2. i A
y X$ (e =, Twesn
S — 5) = b e v pavalle

midpoint of AC

Prove: A4BD = ACED
A

. Given: AABC is an equilateral triangle; D is the

c
S [2-
[ ABBC K equil. | L« Gruveas
D (s wadpt of AC
2. FpSDC 2.0ef-of Midpt

3.@5@
. BD=RD

S . A\ ApD=
ACHED

3. Defof  Equul- N U ppec=
4. fefiexve  frap

B TEC

15. Given: AB = ED; AB”ED C is the midpoint of

BD and EA
Prcn.e AABC = AEDC
(3

B2

-
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beDD\ |
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16. Fill in the blanks for the statements below.

Given: AB = E)E
£B= /E
Prove: AdBC = ADEC
4 D

Staterments  Reasons
1:.—-;#_-—-"'
1. AHZDE 1 Given

2. Lf)ELE 2. Given
3. 3. Vertical £s Thm.
4, 4. AAS Congruence Thm.

3, LPACH=L DLE
4. NP 2 ADEC

ID: A

17. Fill in the blanks for each reason below.

Given: Z_BACE_J_’DAC', £DCA = £ZBCA
Prove: BC = DC

Statements Reasons
1. ZBAC = ZDAC, 1. G\IVW\
ZDCA = ZBCA

3.a48C=a4DC 3. AASA

4.BC = DC 4. CPCTC/
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